
:ß
5

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G‡ G G G G F F
Madrigal

10. Where most my thoughts

F G G G G G G
John Wilbye

:ß

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ G‡

<ß

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ FÚ

<ß

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

FÚ G G GÚ G G GÚ G G F G GÚ F G G

=ß

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

F G G F F G G G GÚ G G FÜ F

=ßýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ F
10

:
15

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

ˆ̂̂̂ ˆ̂̂̂ F G ‹ H F F G ‹ H F G G

:

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

Gë G G G F F G G G G G G F G G
<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G GÚ G G GÚ G G F F ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G G G F G‡ F G G G H H F G G

=
ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ G‡ G ‹ H G G G ‹ H H G G

=ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ G G F F G G G GÚ G ‹ H FÜ G ‹ HÞ F
0520-1



:
20 25

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G G G G G F G G F G‡ G G G G

:

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

Gë G G GÜ F F ˆ̂̂̂ ˆ̂̂̂ F G H H GÚ G

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G‡ G G F F G ‹ H H GÚ G G GÚ G ‡ ˆ̂̂̂

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G ‹ H H H H H GÚ G G GÚ F G G G ‹ H G G F

=
ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G ˆ̂̂̂ ˆ̂̂̂ G‡ G G F F G ‡ ˆ̂̂̂

=ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ Fë ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂

:
30 35

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G F G‡ G G G G ˆ̂̂̂ G‡ G ‹ H

:

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G GÚ G ‹ H H H G F G‡ G G G G G G
<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G‡ G G F G G G GÚ H G H H H G G ‡

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

Fê G G G GÚ H G H H H G F G‡ H ‹ HrH H

=
ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ G‡ G G F H‡ †

=ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ ˆ̂̂̂ ˆ̂̂̂ G‡ G G F G G G GÚ G ‹ HÞ
0520-2



:
40

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G G H HÚ GÚ G G GÚ G ‡ F F G G F
:

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

Hë HHG G ‡ ˆ̂̂̂ ˆ̂̂̂ F F G G F G H H

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

ˆ̂̂̂ G‡ F G G G G F G H H G G G G

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G G ‹ HH G G G G F G G F G H H F

=
ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G ‹ H F G G F F ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂

=ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ F F F F F G G F G G F
45

:
50

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

Gë G F G H H F F GÚ G G GÚ F G‡

:

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

F G G G G G G F G‡ G ‹ H G ‹ H H H H H

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

F G H H G G G G G ‹ H G G G G ˆ̂̂̂ H H‡

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

Gê G G G G H H F F F F H H‡ H H G

=
ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ G‡ G ‹ H G G G G G H H H H G

=ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ Gê H H F G G F F F F F G G
0520-3



:
55 60

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G G G H H G H H G G G F F F

:

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

F F G‡ G H H GÚ G G GÚ G ‡ ˆ̂̂̂

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G G G G G H H H H G G F GÚ G G GÚ

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

Gê G G G G ‹ H H H H† F G G G GÚ F

=
ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

F G‡ G ‹ H H G H H H H H H H G G G G F

=ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ F G G G ‹ H G G F F F G G

:
65 70

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G G G F ˆ̂̂̂ G‡ G ‹ H H H G F G‡

:

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G‡ G ‹ H G G G G F ˆ̂̂̂ G‡ G G F

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

F G G G ‹ H F G G G GÚ G ‹ HÞ F G G

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G G GÚ F H‡ † H G H H H G G G H H H H G ‹ H

=
ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G‡ F G G G G G ‹ H F G G G ‹ H H H G

=ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ G ‹ H F G G G GÚ G G F F ˆ̂̂̂ G‡
0520-4



:
75

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G F F ˆ̂̂̂ ˆ̂̂̂ G‡ G G F

:

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G‡ G ‹ H G G F F ˆ̂̂̂ ˆ̂̂̂ G‡

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

ˆ̂̂̂ G‡ G ‹ H F G G G GÚ G G G G

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G F F H‡ † H G H H H G F GÚ GÚ

=
ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G G GÚ F G‡ G ‹ H G G G G F

=ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ G ‹ H F G G G GÚ G G F ˆ̂̂̂ G‡

:
80 85

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G‡ G ‹Ú H G H H G G G‡ G ‹Ú H G H H G G

:

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G F G G G ‹Ú H G H H G G G‡ G ‹Ú H

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G‡ G ‹ HÚ GÚ G F G G G ‹ HÚ GÚ G F

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G F ˆ̂̂̂ ˆ̂̂̂ G‡ G G G G F

=
ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

ˆ̂̂̂ ˆ̂̂̂ G‡ G G G G F G ‡ ˆ̂̂̂

=ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ G G F G G G ‹ HÚ GÚ G F G G G ‹ HÚ
0520-5



:
90

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G‡ G ‹Ú H G H H G G G‡ G ‹Ú H G H H G G

:

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G GÚ G G G‡ G ‹Ú H G H H G G G‡ G ‹Ú H

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G G ‹ H GÚ G F G G G ‹ H GÚ G F

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G ‡ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ G‡ G G G G F

=
ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G‡ G G G G F G ‡ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂

=ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ GÚ G F G G G ‹ H GÚ G F G G G ‹ H
95

:
100

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G‡ G ‹ H G ‹ H H F G G F G HÚ HÚ FÚ FÚ

:

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G G G G‡ G ‹ H G G F F F F

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G G ‹ H G G G G F F F F F

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G G G G G F G ‹ H G G F F F

=
ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

ˆ̂̂̂ G‡ G G G G F G G F F F

=ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ GÚ G F G G G ‹ H G GÚ F F F F
0520-6


